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TrigonometryExercise Answers for No.9395

3 4 3 S 5 4
Ansl = {sm(A) =—,co8(4) =" tan(A) = csc(A) = 3, sec(4) = cot(A) = —} [

@ 8 8@ f} {ﬁ}

,csc(A4) = g, sec(4) = ?, co

AnsZ—{sm(A)—5 (:os(A)—«/5 an(4) =

Ans3 = { sin(4) = m cos(4) = m tan(4) = csc(A) = T sec(A4) = B ,
Ansd = { sin(4) = F cos(4) = F tan(4) = csc(A) = T sec(A4) = M cot(4) = ;C
+Xx + X

[ Ans.l=[y=cos(0),2m 1,[-1,1]]
Ans.2=[y=-4sin(0),2 n, 4, [-4,4]]
T
Ans.3=[y:cos(66),;, I, [-1,1]
2n I > X |
Ans.4=[y:4cos(3 9),7,4,[-4,4]} VT, 08 4y e
1 r1l-11 [y=-3sin(2 nx)+4, black]
Ans5 =| Ans.5 = {y——3cos(66);g{;,gﬂ , Ans6 = [y=sin(x)+ 1, red] ,

T X
[y =-3 COS(TJ, green}

0
Ans.6={y: 3 cos(g) +1,10m, 3, [-2, 4]}
[y=2cos(2x)+3, blue]

2
Ans.7=[y=—4 cos(5m 6),;, 4,[-4, 4]}

1 o 1157
Ans.8 = y=—5cos? +2, 125 33
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TrigonometryExercise Answers for No.9419
74113 8 J113 V113 4 7} {«/.-)}
7CO = 2 -

,tan(4) = ;, csc(A)="",sec(4) =

Ansl = {sin(A) = m, cos(A) =

113 113 8 7 (
3 '\/ 74/ 58 3 4/ 58 4/ 58 7
Ans2 =| sin(4) = ,cos8(A4) = ,tan(4)=—",csc(4) = ,sec(A4) = ,cot(4) = —}, {L
L 58 7 3 7 3 ]
] 2 X' —4 2 X X X -4
Ans3 =|sin(A)=",cos8(A)=—",tan(4d) =—F——,csc(4d)=",sec(4d) =—F——,cot(4d)=—"_
| X X ¥ —4 2 X —4 2 i

[ 2 [ 2
Ans4 =| sin(A4) = l, cos(4) = x——49’ tan(4) = 7 ,csc(Ad)=" sec(A) = ;, cot(4) = Axr -
x x A X =49 A X =49 7

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l
Ans.2 =[y=4cos(0),2m 4,[-4,4]] i . )(
Ans.S:[y:cos(6 6),%, 1,[-1,1] [y:3 sin(%j+4, cyan} _(
Ans.4=[y=-3sin(20),m, 3,[-3,3]] 5 («x 2
[ 1 1 {_1 IH y=—551n[—j—3 green o
Ans.5=|y= —sm(3 0),— | .= ) 2)
Ans5 = 3721272 , Ans6=| [y=sin(x) -2, blue] | —(
Ans.6=[y=6cos(gj+4,4n, 6,[-2, 10]} [y:—% cos[%j, black} 2
[ 1oLl [1 lﬂ x !
Ans.7 = y——3sm(6n )3 3133 ] y=13cos 3 , red | 2
el %) J )
Ans.8=|y=-2 smT -5,6,2,[-7,-3] 2)
L | A
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TrigonometryExercise Answers for No.9428
34/5 3 2«/5} {«/.-)}
b 2

s ,sec(A)=5,cot(A)= s o
sec(A)—5 cot(A)—ﬂ ,[L()}

sec(A) A1+, cot(4)=—" ]

Ansl —{sm(A) = ﬁ ,cos(A4) —% tan(A4) = g, csc(A) =

{ 3 4 3 5
Ans2 =| sin(A4) = cos(A) =" tan(A) = csc(A) =

Ans3 = { sin(A4) = 4/7 cos(4) = «/7 ,tan(A4) =x, csc(4) =
A [ 2
Ansd = { sin(4) = la cos(4) = x—_49, tan(4) = S — ,esc(A) =" sec(A) — ,cot(4) = N =B }
¥ g V49 A2 =49 7

(mO
Ans.SZ{y: -3 sm(Tj +1, 10, 3, [-2, 4]}

Ans. 1 =[y=sin(0),2m, 1,[-1, 1]] l
Ans.2 =[y=4cos(0),2m 4,[-4,4]] 1(
Ans.3=[y=cos(20),m 1,[-1,1]] i [ 5 (x) } 1| 2
- y=—_sin| _ |, green A
Ans.4=[y:5cos(49),—,5,[-5,5]} 2 \2 )
2 [y=—cos(x)—2, red] -

. 5_[ 1o Lﬂl[ilﬂ { 1 } i
s — ns.5=|y= 6cos( ), s el 66 ' Ans6— y:2c05(2x)—2,black 9 2
0 TX o
Ans.6:[y:3sin(zj+5,8n,3,[2,8]} {y=3cos(TJ—4,cyan} 2)
1 21[-11 1 o

Ans.7 = y——5c05(3n6)55 5,5 ] {y:gsm@nx),blue} | 2
(

)

o
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TrigonometryExercise Answers for No.9459
345 245 7 745 3%} [ﬁ}
7 15 2 7

,tan(A4) = ,csc(A4) = 5’ sec(4) = T, cot(4) = >
ﬂ}

N

Ansl = [ sin(4) = z cos(A) =

4 3 4 5 5 3
Ans2 = {sm(A)— cos(A)—— tan(4) =", csc(A)—4 sec(A)— ,cot(4d)=" } ,[

2

Ans3 = { sin(d)=4/1- X, cos(A)=ux,tan(A4) = %,

1 1
csc(A4) = ﬁ, sec(A4) = ;, cot(4) = —1x—x2 ]
A =9 +x° 3 A =9 +x° X 3
Ans4 = { sin(d)=—"""",cos(A4d)=",tan(4) ==, csc(4) =—F——,sec(4) =" cot(A )="T—7—
x x 3 A9+ 5 4/9+x2}

Ans.1=[y=cos(0),2m, 1,[-1,1]]
Ans.2 =[y=4sin(0),2 m, 4,[-4,4]]

T _ _
Ans.S:[ =cos(40), —,1,[-1,1 }
4 (49) 2 : ] {y 2cos( 3 j+4 red}

Ans.4=[y=5co0s(20),m5,[-5, 5]] 3
[y——z sm( ] blue}

1 2m 1
Ans.5 = y—gcos(S(?))—— -7
X
[y =2 cos(gj -2, green}

Ans.6=[y=2sin(ij+2 8m, 2,[0, 4]}
} [y=3sin(2 ntx), black]

L [y=—cos(x)—3,cyan] _

AnsS = , Ans6 =

N

Ans.7:[y:—%sm(4 T 9) - = [— —}

)
Ans.8 = [y =—6 COS(TJ -3,10,6,[-9, 3]}

N e e N e AN A
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TrigonometryExercise Answers for No.9476
74/10 2«/10} [ﬁ}
20 > b

,cot(4)= 3 y

AnsZ:{sin(A): 13 ,cos(A) = 3 t(A)— ,csc(4) = ,sec(4) = "

Ans3 =| sin(A4) = %, cos(4) = % tan(4) = csc(A) = sec( )= cot(4) =
L 36 +x 36 +x |

Ans]-[sm(A)—3 cos(4) = 2 O,tan(A)— 3;4? csc(A)—7 sec(4) =

, x 16 —x° x 4 4 16 — x*
Ans4d =| sin(A)="—",cos8(A)=—",tan(4) ==, csc(4) =", sec(4d) ==, cot(4) =
i 4 4 16 —x* X 16 —x° ]
. . 2
Ans. I =[y=sin(0),2 m, 1,[-1, 1]] (
Ans.2 =[y=—-6co0s(0),2m, 6,[-6,6]] )
A3[ in(30), == 1, [-1. 1] o
ns.3 =| y=sin s 5 o L -1,
4 3 [y=2sin(2x), cyan] )(
Ans.4=[y=5co0s(20),m,5,[-5,5]] [v=-—sin(x)+ 1, black] —(
0 =— 2x)+4, ;

Ans.5:[y:—2 COS(_j,STE, 2,[-2,2]} Ly=-3 cos(2x) 4. green]| | )
AnsS5 = 4 . Ans6 = 3sin| — mx +3, blue | | v
1 1[-16 -14 I 2 (
Ans.6 = y=——"cos(20)-5m | —/— )
3 3373 [__1 (ﬂj d} -
s 7| y=Leos3mon 21| 22| | =g pred] ]«
ns.7=|y= 2cos( i )3 > 575 2)
) (
Ans.8 =| y=-3 cos 7 +2,4,3,[-1,5] l

L 4 v
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TrigonometryExercise Answers for No.9491
7474 74 7 o
-4 ,cot(A)=g , S| T

5 4
,tan(4) = csc(A) =" sec(A4) = (

e -4 [

sec(A)— ,cot(4) = 3 v

Ansl = {sin(A) = > ,cos(A4) =

Ans2 = {sin(A) = ,cos(A4) = 3’ tan(4) = ,cs¢(A) =

2 2

-16 +x 4 -16 +x

4
An33=_sin(A)=7, cos(A)=;, tan(A)=—4 , csc(A)z—,—_lz_'_x2 sec(A)—— cot(4) = /——l6+x2 |

nsd =] sin(4) 4 " 16 +x° () 4 " x n x ) A =16 +x*
ns4 =| Sin =", COS = ,tan =" r———,CSC =", 8€C =r——,C0 =
I x x Al =16 + 1 4 Al =16 + X 4 i

1 ) 1]|-16 -14
Ans.8 = y=-gcos| —~ —3,4,g, P

[ Ans.1=[y=cos(0),2m 1,[-1,1]] 2)
Ans.2=[y=4sin(0),2 m, 4, [-4,4]] A

. n - - 2
Ans.3 =| y=sin(40),—, 1,[-1, 1 2
ns [y sin(4 0) 5 [-1,1] [y:%cos(2x),blue} o
Ans.4 :[yz 3 sin(4 0), g 3,[-3, 3]} [y =cos(x) -1, black] l(

5 :
Ans5 = Ans.5:[y:4cos(%j, 1075,4,[-4,4]} . Ans6 = [y:_ism(zm)”’red}, l(
; :
Ans.6 = {y—écosﬂ@) %é{%%ﬂ [y=—2sm(2x) 4cyan} l(
Ans.7=[y=—5 cos(6n9),§,5,[-5,5]} [ ) Sm( jgree"} | l(
P
o
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X

TrigonometryExercise Answers for No.9633

Ansl —{sm(A) = ﬁ ,cos(4) —% tan(4) = g, csc(A4) = ) f, sec(A4) =§, cot(A4) =#}, ,{L()}
Ans2 =| sin(4) = 9,cos(A):§,tan(A): 9,csc(A): 8«3/9379 sec(A)—8 cot(4) = 5«3/9379}’ ,P/?
e ()= cos(4) = L2 tan() == () =, see(h) = ; () = L=

ns3 =| sin =", CcoS =——_, tan =—F—, CSC =", sec —F—, Cco =

L 3 3 9—x2 9_ X

Fﬁ

Ans4 —{sm(A) W cos(4) = «/367 tan(A4) =" csc(A) =
+Xx + X

AnsS =

[Page

0007]

1
Ans.6={y=5005(3 0)-—

Ans. 1 =[y=sin(0),2w, 1,[-1,1]]
Ans.2=[y=6co0s(0),2m 6,[-6,6]]
Ans.3=[y=sin(20), m, 1,[-1,1]]

2r
Ans.4=[y:—6 cos(30), T, 6, -6, 6]}

0
Ans.5 :[y =5 sin(;j, 47 5,[-5, 5]}

2n1[ﬂﬁﬂ
2L 272

59 b
3
2
Ans.7:[y=—5 cos(3m0O), g, 5,[-5, 5]}

0
2 6

1
Ans.8 = [y =—" cos(—

Jrngaal]

, Ans6 =

,sec(4) =

X
y=2 cos[;} + 2, blue
[y=sin(x) + 1, black]

1
y= —5 sin(2 m x), cyan

_[y: 3cos(2mx)—3, red]

X
{ y=-2 cos(;}, green}

,cot(d)=" }

N N N N N N N

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.9711
7413 J13 } P/.-) }
b 2

s ,tan(A4) = 6 \/E ,csc(A4) = 7, sec(4) = ,cot(4)= (

13 6 13 6

L5 2l e 5 [

Ans2 = {sin(A) = S, cos(4) = ,csc(A4) = g, sec(4) = ,cot(4d) = p "

S ,—2 -
Ans3 = _ sin(4) = cos(A) = g, tan(4) = xT—%, csc(A4) = ﬁ, sec(A4) = %, cot(4) = ﬁ
Ansd = sm(A) —F——,c08(4) = 7 ,tan(A4) = ﬁ, csc(A4) = sec( )= cot(A) =

4/x +49 A X%+ 49 7 X_

Ansl = {sm(A) = 6 ,cos(A4) =

tan(A )=

1 ) 1810
Ans.8 = y:—gcos T + 3, 10,5, g,?
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Ans. 1 =[y=sin(0),2 m, 1,[-1,1]] l
Ans.2 =[y=-3cos(0),2m 3,[-3,3]] )(
2 B ] 2

Ans.3 = y:cos(59),—n,l,[-1,1] [y 5s1n(2x) 4red} o
Ans.4d=[y=-3 20 3 -3,3] -
" Ly ICOS( )n [ 11 1] [ =-2 sm( Jblue} o(
AnsS5 = Ans.y = [y— —sm(66) 33 [;’g } , Ans6 = X , l
0 y:— cos + 2, black o
Ans.6=[y:—3sin( J+3 10, 3, [0,6]} 2 \3 )
5 [y=—sin(x) — 2, green ] —(

1 .

Ans.7:[y=—3 sin(4n6),5,3,[-3,3]} i [y:%cos(%j,cyan} | 2
o

2

o
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TrigonometryExercise Answers for No.9784
6461 5 el Je1 6 o
p ,cot(A)=g , S| T

01 ,cos(A4) = ,tan(4) = csc(A) = ,sec(A4) = (

61 61 5

2Jgﬁ,cos(A)zg,tan(A)z ZF,CSC(A)I 9!3 sec(A)—9 co t(A)——SgE}, ,[ﬂ}

5
Ansl = {sin(A) =

Ans2 = [ sin(4) =

2
A”S3={Sin(‘4):*/1—xzaCOS(A)=x,taH(A)=—le_x,csc(A) —; sec(4) = cor(4) = —lx_le

Ans4 —{sm(A) F cos(4) = «/167 tan(A4) —— csc(A) = 1o 4+ ,sec(A)=—"—",cot(4) :i}
+Xx + X

[ Ans.I=[y=cos(0),2m 1,[-1,1]] 2)
Ans.2=[y=-2sin(0),2 , 2,[-2,2]] (

oo ] | 1| 2
Ans.3=|y=cos(50),—, 1,[-1,1] 1 X -

5 [yz—— cos(—j, green} (

2 2 2 )

Ans.4:[y:—5 sin(3 6),7, 5,[-5,5]} [y=-sin(x)+ 3, cyan | —(
| ;

1 1{-11 :

Ans5 = Ans.5=[y=—6 sin(2 0), «, = {6 6“ , Ans6 = [y Ssm(27rx) K red} , l(
Ans.éz[y=3sin(%j—3, 10 n,3,[-6,0]} [ =5 cos@mx), blue} l(
1 21|-11 [y:— cos(2x)+2,black} 2

Ans.7 = {y _6 sin(5 o), e {6’6H | 2 1 (
sl %) } ’
Ans.8 =| y=-3 sin ~ +4,10,3,[1,7] _(
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TrigonometryExercise Answers for No.10143

X

[Page

Ans]-{sm(A)—3 cos(4) = S,tan(A)—3 > csc(A)—8 sec(A)—8 5,cot(A)=J§75}, ,{C}
AnS2=|:SiH(A):5;/.1471’008(,4):4;/-1471t (A)_5 csc(A4) = ,sec(A):J:T,cot(A):§}, ,{L()}

Ans3 =

Ans4 =

sin(4) =

A/ x* =49
X

7
,cos(A)=",tan(4) =
X

Al Xt =49
7

X 7
, A)=—FT— A)= t(4)=—"FT—
CSC( ) m SCC( ) , CO ( ) m |

tan(A )=

sin(4) =

,cos(A4) =

Ans. 1 =[y=sin(0),2w, 1,[-1,1]]
Ans.2 =[y=4cos(0),2m 4,[-4,4]]

i
Ans.3 =[y= sin(4 0), 5’ 1,[-1,1]

2
Ans.4=[y:—4 cos(5 0), Tn 4,[-4, 4]}

AnsS = 1 2m 1 (-11
" Ans.5:{y=§cos(56)——[—,—ﬂ ’

573133

0
Ans.6=[y= 3 cos(z) +3,8m,3,[0, 6]}

1 no 1 1 1
Ans.7 = y=—ECOST,8,6, 676

L Ans.8=[y=-3cos(2mO)+5,1,3,[2,8]]

0010]

,csc(A) = ,sec(4) = 2, cot(4) =
25— X X 25— x°
_ ) -
N
_ s - l
TX
{ y=-" cos(—j -4, green} A
3 :
s 2
[ =—— (i blue} (
y 5 cos 3 +2, .)
Ans6 = { 3 j } , —
y=- sin| 5 , black )(
o5 ||
y=2sin| —/ |, red A(
: )
L [y=sin(x) -3, cyan] —(
)
L o

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XKLL KKK XKL LKL KKK XKL LXK KKK KKK K KKKKKKKKKMS /1-6500302-00010XX

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKX KX KXKXX KX XXKXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6500302-00011XX
TrigonometryExercise Answers for No.10359

o

2[ 7«/? 7 5«/3}9 [«/7}

Ans2 = [ sin(4) = 276 ,co8(A)="_. tan(A) = ,csc(A4) = ,sec(4) = cot(A) = (

7 12 12
A9 —x X A9 —x* 3 3 X
Ans3 = { sin(d)=—"_""",cos(4d)=",tan(4d)=—"",¢csc(4d)="F7——=,sec(4) =" cot(A) =
3 3 X F 9—x° }
Ans4 —{sm(A) F cos(4) = «/167 tan(A4) =" csc(A) == ,sec(4)= cot(4) = B }
+ X + X

{ 4 3 4 5 5 3} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 |,

Ans. I =[y=sin(0),2w, 1,[-1, 1]] l(
Ans.2 =[y=—6cos(8),2 T, 6, [-6, 6]] )

T 5 v

Ans.S:[y:cos(6 6),;, I,[-1,1] [y ( j+2 black} o

- v

Ans.4=[y: 3 cos(40), E’ 3,[-3, 3]} [ :—sm[ j+4, blue} (

3 - )

Anss = 1 . T 1[-1 1H , Ans6 = 5 N
Ans.5=|y=—" 40),—,—,|—,— _ T )
ns {y 23111( ),2,2, X i 2sm(2nx),red_ )(

0 — _ A

Ans.6:[y:—2 cos(zj 1,872, [-3, 1]} L Clos(x) . 5. cyan] o
Ans.7=[y=—6cos(2 1 0), 1,6,[-6,6]] | |Pmeos pgreen | || 2

1 m 0 1[1113 :(
Ans.8=|y=—"cos| —/— |+3,6,,| —, 2)
i 4 3 14 4] =
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TrigonometryExercise Answers for No.10626

7458 3458 7 \/58 58 o 3} {«/7}
CO = -
3 9 7 b 9

,cos(A4) = ,tan(4)=_,csc(4d)=—"—"",sec(4) = (

58 58 3 7
ﬂ}

Ansl = {sin(A) =

7485 64/85 7 |85 |85

AnsZ:{sin(A): 95 ,cos8(A4) = g5 ,tan(A):g,csc(A): . ,sec(A4) = p ,cot(A):gl ,{ "

2

Ans3 {'(A) X cos(4) = L2 an () = —= (A) =~ see(d) =—— t(4) 49_’“2}
ns3 =| sin =", CcoS =———,tan =—F——,CsC =", sec =—F———, o0 =
7 7 49 — 2 X Al 49 - x* *

Ansd {'(A) (42X ) = tan(a) [4-x P (4) == cot(A) === }
ns4 =| Sin =— . COS =", tan = .,CSC = ——, S€C =".CO == —
2 2’ x o Na- x’ Na-

I

Ans.1=[y=cos(0),2m, 1,[-1,1]] 2)

Ans.2=[y=-6sin(0),2 m, 6,[-6,6]] N

Ans.3=[y:sin(49),£,1,[-1,1] ] 2

2 3 T X A

2 y:—Ecos T — 2, green )

Ans.d=|y=-5c0s(30),—,5,[-5,5] -

3 1.(mx o

1 2n 1[-11 y == sin| =~ | cyan )

Anss = Ans.5=|y=7sin(50),—/, | 7.2 . Ans6 = -

2 572122 [y =—cos(x)+ 1, blue] o

Ans6—{ ——6cos(g)+1 47,6, [-5 7]} { HEN (il 4 d} 2

. y 2 ) s Yy s y_zsln 2 + > re (

0 _ .

Ans.7 = [ y=-5 sin(%j, 12,5,[-5, 5 ]} - [y=2cos(2x), black] l(

1 21[-9 -7 )

Ans.8=|y=—cos(3m0O)-2,7,—,| —, -
A 4 3444 1] .
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X

TrigonometryExercise Answers for No.11002

Ansl =| sin(A4) = 5\7/4774,005(A)= 75? tan(A)—5 csc(A4) = 4,sec(A)=ﬁ,cot(A)=g}, ,{L()
Ans2 = sm(A)—6cos(A)—JE an(4)=——— ﬁ SC(A)Z%”““*%’CO“A):El W?
anss| (4= cos) = P an( ) = ese(t) = 2. sec( ) = col( ) =
ns3=|sin(4)=",cos(Ad)=—"",tan(4d) =—F—, csc :—, sec(Ad)=—"F——,co =
I 2 Ny A 4= ]
N ~— ~— N
Ans4 = sin(A)zL, cos(A):; tan(4) = csc(A)—x——i_g, sec(A)zx——i_g, t(4)="—"
L f\/x2+9 «/x2+9 X 3 i
[ Ans.l=[y=cos(0),2m 1,[-1,1]] )
Ans.2=[y=-5sin(0),2 , 5,[-5,5]] A
s - 2)
Ans.3=|y= 40),—1,[-1,1 -
" [y cos(49) 2 [ ] {y —3 cos(2 mx), black} A
S I Y I 2)
Ans.4—{y— 25111(49),2,2,[2,2]} { :_2sm[ j+4 red} p
AnsS = Ans.5=[y=6cos(gj,6n, 6,[-6,6]} , Ans6 = { } 2
3 y=_sin(2x), cyan A
. 6[ LI 42_1[22“ ’ P
ns. y——2cos( )+ s |25 [);=cos(x)—1,blue] o
Ans.7:{y:—lcos(n—ej,8 1 {_1 lﬂ | yzgcos(2nx)+2,green | 2)
2 4 2’[272 !
Ans.8 = [y——2sm(6n9)+4§2[2 6]} l(
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TrigonometryExercise Answers for No.11188

2f 5.6 7 7./6 2%}, [ﬁ}

,tan(A4) = csc(d)=7,sec(Ad)="—"_",cot(4) = (

12 7 5 12 5

Fooieafn ) [

,csc(A)—5 sec(A) = cot(4) = (

Ansl = [ sin(4) = 2 cos(A) =

[ 5 2414
Ans2 =| sin(A4) = cos(A) = ,tan(A4) =

/ 2 /
Ans3 = sm(A = 4/7 cos(4) = «/7 tan(4) = %, csc(A4) = %, sec(A)=—"",cot(4) =
16 +x 16 +x

7 49 + x*
Ansd = sm(A):ﬁ cos(d)=—f———,tan(4)=",csc(4d)=—""_,sec(4d)=—""" cot(A)—
i 49 + x 49 + x* X 7 ]

- Ans.]1 =[y=cos(0),2m, 1,[-1,1]] l(
Ans.2=[y=—-6sin(0),2 7, 6, [-6, 6]] j)

Ans.sz[yzcosm 0), 5 L1, 1] i [yzécos(ﬁj red} 11«

Ans.4=[y=3cos(20),m3,[-3,3]] 2 2

[ (ej } [y=-2sin(2 x), black] N
Ans.5=|y=6¢cos| |, 6m, 6,[-6,6 = +1, :

s y 3 [-6,6] ' dns6— [y 1cos(x; cyan] ’ l(
1 2n 1[15 17 — ——cos| = :

Ans.6 = [y——4cos(3 0)+4, TRZ[TTH [y 290G e

2 [)’:—l sin(MJ—S blue} i

Ans.7 = y:—6cos(5n6),g,6,[-6,6] | 2 2 ’ i)

1 (n6 1[-7-5 1

Ans.8=|y=—"cos| —/— |—2,4,= 2)

i 3 2 30373 "
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TrigonometryExercise Answers for No.11505
54/41 5 A
,eot(A)=—1 ,| =~
41 4 o

SR s

4
,tan(4) =

7ﬁ
- ,C
8

9
,csc(A) :;,

csc(A) = ,sec(A4) =

942
8

A)=

442

— ¢

, cos(

4
Ansl = {sin(A) =

an(A4) = sec(4) = ,cot(4d) =

Ans2 = [ sin(4) = ! cos(A) =

] 5 q/x2—25 X «/x2—25
Ans3 =|sin(A)=",cos8(Ad)=—",tan(4) = csc(A)— ,sec(Ad)=—F———,cot(4d)=—""—
L X X A X =25 A X =25 S
, A X =16 A X X 4
Ansd =| sin(4)=—", cos(A)— ytan(4)=—"" csc(A) ——,sec(4)=" cot(A) T
L X f\/xz—16 A X =16 ]
[ Ans.d=[y=sin(0),2x 1,[-1,1]] ] )
Ans.2=[y=2cos(0),2m 2,[-2,2]] A
i 2n - - 2)
Ans.3=|y=sin(30),—/—, 1,[-1, 1] 3 (x -
3 yz—g sin E — 4, green o
Ans.4 = [y 2cos(66) 3 [-2,2]} [y=—cos(x)—1, black] l
1 21 1[-11 [ 2 (ﬂ } )(
Ans5=| Ans.5= [y—6sm(3 0), T g,[g,gﬂ . Ans6 = y—200:; 3 > v , _(
6 .
Ans.6:{y:—3 sin(5j+3,4n,3,[0,6]} {y 2Sm( ) J+2 blue} l(
TX '
1 11-11 = — :
Ans.7 = [y—— cos(6m0),, = {—,—H i [y 3COS( 2 J’ red} i 2
5 35155 o
(mO 2)
Ans.8 =| y =—6sin T +4,8,6,[-2,10] —(
0015] XXX XXX KK KX XXX KKK KX XXX XXX KK XX XXX KX XX XXX XK KKK XXX XXX XK KKHHHK

X [Page =




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKX KX KXXXX KX KKK XXX XXXXKKXKXXXXKXKXKXKXXME /1-6500302-00016XX
TrigonometryExercise Answers for No.12113

{ 4 3 4 5 5 3} [
Ansl = sm(A)— cos(A)— tan(A)— csc(A)— sec(A)— ,cot(d)=—"1, ,

|
Ans2 :{sin(A) = > f, cos(4) = 8 7373 tan(4) = 2 csc(A) = J?, sec(4) :@, cot(A) :gl ,{L()}
/ 2 / 2
An33={sin(A)=ﬂ, cos(A)=£, tan(A)=ﬂ, csc(A)=L, sec(A)— ¢ ,cot(4)= ;}
6 6 X 36 —x° 36— x°
[1 2
Ans4 :{sin(A) =4/ 1 —xz, cos(A4)=ux,tan(A) :%, csc(A4) :;2, sec(A4) :%, cot(4) = al > ]
1—x -
Ans. 1 =[y=sin(0),2w, 1,[-1,1]]
Ans.2 =[y=4cos(0),2m 4,[-4,4]]
Ans.3=[y=cos(20),m 1,[-1,1]] [ [y=-sin(x), black]
2
Ans.4:{y:2cos(5 6),%, 2, [-2,2]} {y:2cos(%j—4, cyan}

0 X
Ans.5 :[y =-3 cos(g), 10 «t, 3, [-3, 3]}  Ans6 = [y =3 cos(;j + 2, green}

1 11113 T X
Ans.6 = y:—3sm(26)+4n3 3 3 y=2cos| —/— 5 , blue

1 o Li-11 5 (x
Ans.7 = y:—gcosT ,8,~ |55 y:—Esm;,red

1
Ans.8={y=—4 cos(6m0O)—5,7,4,[-9, -1]}

AnsS =

S

3

e e R e r e R e s e Rk =
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TrigonometryExercise Answers for No.12541

3473 8473 3 |73 73 o 8} {«/7}
CO = -
8 9 3 b 9

,cos(A4) = —— tan(A4) =g, csc(A)=""",sec(4) = (

3434 5434 3 34 |34 5 Ao
34 34 s ccotA=Tp 70

,cos(A4) = ,tan(A) :g, csc(A4) = 3 sec(4) = (

Ansl = {sin(A) =

Ans2 = {sin(A) =

_ 5 A1=x" 1 1 x
Ans3 = sm(A) =4/ 1=x",cos(Ad)=x,tan(4d)=—""",¢csc(d)=—F7——,sec(4d)=—",cot(4d) =—F—
X A1=x X A1=x

2

Ansd =| sin(4) =x, cos(4) =+ 1 -, tan(4) = (4) =5, see(4) =———, cot(4) =
ns4 =| sin X, COS —X an , CSC = ,SCC =", C0 =
«/l—x «ll—xz X i
[ Ans.i=[y=cos(8),2m 1,[-1,1]] | )]
Ans.2=[y=3sin(0),2 m, 3, [-3,3]] N
. T - -1 2
Ans.3=| y=sin(60), =, 1,[-1, 1 2
" [y sm(6 9) 3 [ ]} [y 3sm(n2 j black} (
2 .
Ans.4:[y:4cos(5 9),%,4,[-4,4]} [y=—cos(x)—1, red] l(
Ans5 = Ans.5=[y=—6 sin(%j,iﬁt, 6,[-6,6]} | Ans6 = [y:—2 Sm( 2 j+3’blue}, l(
Ans.6 = [y——lcos(Z 0)-3,m, L { L -UH [y:%cos(%j,green} 2
S (S )
Ans.7:[y:—5005(4n9),5,5,[-5,5]} B UV il l(
1 (n6 114 16 y
Ans.8 = y=—5cosT +5,8,§, 3 3 _(
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TrigonometryExercise Answers for No.12590
345 745 7 2ﬁ} [ﬁ}

,csc(A) = sec(A)— cot(4) = (

> A 2t A
,cos(A)=T",tan(4) = 5 15 15

2«/9H,tan(A): Sg;j csc(A)—9 sec(4) = 9«2/8174’(30‘[(14):@}’ ,[L()}

F

3
Ansl = [ sin(4) =

Ans2 = [ sin(4) = 2 cos(A) =

,cot(4) = x]

Ans3 —{sm(A) F cos(4)= tan(A) = csc(A) A1+x ,sec(A4) =
l+x Al

Ansd = { =L sy =E tana) [4-x P (4) == cot(A) === }
ns4 = sm = _  ,Co0S = an = .,CSC - r—, S€C =".CO D
2 X ’ J4_f’ x /4_2

I

| Ans.I=[y=sin(0),2m 1,[-1,1]]
Ans.2=[y=-2cos(0),2m, 2,[-2,2]]
Ans.3z[yzcos(6 e),ﬁ, 11, 1]} )
NENEP
Ans.4 = {y 2 cos(5 e) A ) 2]}
[y= —sm(x)+2 green |
0 __
Ans5 = Ans.5=[y=—4cos(2j 4, 4,[-4, 4]} . Ans6 = [y =-3sin(2 x) + 4, blue ] ’

= sinl =2 | jed

| 1 y=2sin 3 , re
Ans.6 = y:5c05(66) 3—— - T

{y =3 COS(TJ -4, black}

Ans.7 = y=—5cos(4n6) ,5,[-5, 5]}

1 w0 1]-11 -9
Ans.8 = y=—EcosT —5,6,5, 7,5
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TrigonometryExercise Answers for No.12621
9477 «/77} {«/7}
77 b 2

,cot(4)= 5 "

,cos(A4) = ,tan(A4) = csc(A) = ,sec(d) = o(

13 13
Ans3 —{sm(A) 4/7 cos(4) = % tan(4) = csc(A) = sec( )=—""__,cot(4)= }
x"+25 X" +25
/ / 2
Ansd = { sin(d)=—"""",cos(4) = l ,tan(4) = #, csc(A4) = ﬁ, sec(4) = %, cot(4) = ﬁ}

Ansl = {sm(A) = 2 ,cos(A4) = ! ,tan(A4) = 2 ﬁ csc(A4) = 2 sec(A) =

Ans2 = {sin(A) =

| Ans.l=[y=sin(0),2m 1,[-1,1]] 2)
Ans.2=[y=-2cos(0),2m, 2,[-2,2]] A

. m - A2
Ans.3=|y=sin(40),—, 1,[-1, 1 -

" [y sin( )2 [ ]} [y:—3 cos(ﬂj+4, red} A

2n 3 ‘)
Ans.4:{y:6sin(56),—,6,[-6,6]} [ 5 } =

5 y=_cos(2 mx), green A

Ans5=| A 5—[ ! (49)51[—11}} Ans6 = ’ 2
o=\ AN S Y= e08 2’3373l AT [y 3sm(3j+3 blue} |
6 .

Ans.6={y: -2 sin(gj -3,10m,2,[-5,-1 ]} [y=-sin(x) -2, black] —)

1 (m0) 1[-11 [— 1 (1j } )(
Ans.7:{y=—zcos(7], 4, 4,[4 4H T 2 S p —(

2

o

1
Ans.8=[y=—3 sin(4m0)+ 1,5, 3,[-2, 4]}
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TrigonometryExercise Answers for No.12641
44/7 4 3«/7} {«/.-)}
7 b 2

,sec(A)=g, cot(4) = . (

> f, sec(A4) = %, cot(A4) = #}, , {L()}

Ansl = {sin(A) = f cos(4) = %, tan(4) = J7 ,csc(4) =

Ans2 = {sm(A) = ﬁ ,cos(A) —§ tan(A4) = f, csc(A) =

2

Ans3 = { () =2 cos(4) = 2 tan(4) =~ ese(4) =, sec(d) =———, cot(4) Ao-x
nsoy = sm = COS = an = CSC =", S€C = CO =
37 9—x2, x’ 4/9—x2, X

5 / 2
Ans4:{sin(A)=%, cos(A)=—“_4x+x, tan(A)=% csc(4) =" SGC(A) % cot(4) = _42+x }
—4 +x —4 +x

1
Ans.8 = {y——S cos(4n6)+3 , 5, [-2, 8]}

| Ans.l=[y=cos(0),2m1,[-1,1]] 2)
Ans.2=[y=-6sin(0),2 m, 6,[-6,6]] A
Ans.j’:[y:cos(?) e),z—n, 1,[-1,1] { , (nxj } 2

3 y=-3sin Py — 3, green (

T 2)
Ans4=|y=2cos(60),—,2,[-2,2 2
" {y cos( )’3’ 12 ]} {yzgcos(Zx),black} N
AnsS = Ans.5:[y:—6cos(gj,6n,6,[-6,6]} . Ans6 = [ (n j } , 2
3 y =2 sin| blue o

1 x 1[19 21 3 )

Ans.6 = y:gcos(66)+ 3’ 5, ?,? [y=cos(x)—1,red] -
1 (n0) 1[-11 { 5(’“}4 } )(

_ | =/ S I y=—_8smm| _ |—4,cyan 2
A"S’L{y_ ssm( 4 j > 5’[5’5H L2 o
2

(
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TrigonometryExercise Answers for No.12674
2413 3 J13 J13 2 o
3 5 ,cot(A)=§ , S| T

,tan(4) = csc(A) = ,sec(A4) = (

L5 LB 215] 1

,tan(A4) = T, csc(A4) = 5, sec(4) = T, cot(4) =

,cos(A4) =

3
Ans]={sin(A)= 13 3

Ans2 = [ sin(4) = 2 cos(A) =

(
‘: ] 25 — X X 25— X 5 5 X }
Ans3 =|sin(A)=—"_""",cos(4d)=",tan(Ad)=—"",csc(4d)=—F————=,sec(4d) =", cot(4 ) = —F——=
S S X 25 —x° X 25 —x°
/ 2
Ans4 :{sin(A) = ﬁ, cos(4) :ﬁ, tan(4) = i, csc(Ad)=4/1 +x2, sec(4) :%, cot(A4) :x]
[ Amsdi=[y=cos(8),2m ,[-1,1]] | )]
Ans.2=[y=-2sin(0),2 x, 2,[-2,2]] (
2n - A 2)
Ans.3=|y= 36,—,1, -1,1 -
ns y=cos(30) [ ] [y:%sin@x),blue} Y
2n 2)
= 0),— -
Ans.4 {y 4sin(3 6), 41 4’4]} [ —lsm[ j+3 black} N
Ans5=|  Ans.5 [ =—6 sm( j4n, 6,[-6,6]} , Ans6 = { ( J } 2
y=3sin green o
[ 1 [4 6“ )
Ans.6 = y=‘cos(49)+1—— - -
2°5°L55 {y_—z cos( 3 ] 4, cyan} !
Ans.7 = [ :—4sm( j4,4,[-4,4]} L [y=—cos(x)+ 1, red] l(
Ans.8 = [ 370 421{22—5“ l
_ns y—— sin(3m10)+ vl 66 ]
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TrigonometryExercise Answers for No.12728

X

5 2 5 345 3 24/5 :
Ansl —{sm(A)— [ cos(A)—— tan(4) = {, csc(A4) = [, sec(A)=5, cot(A)=T[}, ,{L()}
4 3 4 5 5 ) o
Ans2 = s1n(A)— cos(A)—— tan(A)— csc(A)— sec(A)— cot(A)— , —(
_ - -
] X 6—x X 4 4 16 — x
Ans3 =| sin(A4)="—",cos(4) = ,tan(A4) = ,csc(A)=",sec(4) = ,cot(d)=—""
I 4 4 16 — x* x 16 — x*
anst = sin) = P2 sy =2 tan) = BT oty = ey = o) ==
nsd=|sin(d)=—"—"",cos(4d)=",tan(4d)=———-—, csc(4) =—F——, sec —, CO —
i X x 5 Ax* =25 Xt =25
[ Ans=[y=cos(0),2m 1,[-1,1]] | )]
Ans.2=[y=-5sin(0),2x, 5,[-5,5]] (
T - . :
Ans.3:[y=cos(49),—,1,[-1,1] 3 TX l
2 y=-=cos| — |+2, cyan o
. 2n 2 2 J
Ans.4=| y=-5sin(3 6),7, 5,[-5,5] [y=sin(x)—2, red] —(
1 .
0 i .
AnsS = Ans.5:[y=3cos(gj, 107, 3,[-3,3]} . Ans6 = { o Sin(2x) +3, blad{} : l(
1 27n 1|15 17 -
Ans.6={y:—sin(3 e)+4,—,—,[—,—ﬂ [ 2005( ]gree"} 2
4 3 414 4 o
1 no 1|-11 :
Ans.7:[y:—_ Sin(—j, 4, { H {y 3 COS( ] blue} | 2
4 2 4144 o
1 2)
Ans.8 = y——6sm(41c6)+5 ,6,[-1,11] —(
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